26

259 | 350 115,
i 3
21 5 —
S N
< N o
SR S
1.5/ 15 /1.5 = 2
18 <
—
(9p]
= 3
400 598 320 108
302 278 15 |4 1470 15
12 250 4(
3 18 295 .
- ) 490
<=> ; I~ \ \\ \ \ \ \ \m \
X L ¥ /6.5 ® SN NN\ NN . % \
== Sy s . s=opohioo: . B
G | R LY g
Lo n /®
) 3
@O
3 ™
@\\"T—-WJ 8 | I N N N §
l T n
@\1 ®\ §
- 535 507 . 320 108
@ 5 o
[ o
| o
o =
| | ¥
L —1 —
a = @ —
1§ J /@ § | M —
[ \
L =3
S t [
i @ :\J 1
({e) U | —
' - el S 5 8
~ /’E @ 16 =\ -
’ | L]
g [ —
i @
:5 § FJ 3
'y 4 —
i \@
242 17.5 |80, 15 |, 1470 |
370 210 15
580 @ 1500

« D
C )
QD)
« D
(e )

WEB

q Repeat Web

>

1/15

30

22




